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CERTIFICATE IN PRIMARY 

TEACHING (CPT) 

(MODULE 1 OF DPE) 

Term-End Examination 

June, 2019 

ES-203 : TEACHING OF ENVIRONMENTAL 

STUDIES 

Time 3 Hours 	Maximum Weightage : 70% 

• Note : AU questionsare compulsory. All 

questions carry equal weightage. 

1. Answer the following question in about 600 

words : _ . 

Discuss the significance of teaching 'our 

heritage' at primary stage. How does it 

influence the social life of primary school 

children ? Illustrate your answer with two 

examples. 
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Or 

What are the causes of population exploiion in 

India ? How would you sensitise the children 

about the problems of population explosion with 

the help of activities ? Discuss. 

2. Answer the following questiori in about 600 
words : 

Discuss 	the 	objectives 	of teaching 

'Environmental Studies' under cognitive, 

affective and psychomotor domains. 

Or 

Discuss any three strategies for effective 

teaching-learning of the concept of 

`Environmental Studies'. Illustrate your answer 

with examples. 

3. Answer any four of the following questions in 

about 150 words each : 

(a) Explain any activity that may be used to 

teach the concept 'Stimulus and Response'. 

(b) How will you teach the difference between 

`deficiency diseases' and 'communicable 

diseases' with the help of an activity ? 
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(c) Explain the importance of presence of 
oxygen in the air. Illustrate it with an 
activity. 

(d) 'Air exerts pressure: Illustrate the concept 
with the help of an activity. 

(e) How will you demonstrate that air has 
water vapour ? 

(f) Explain the concept of 'condensation' with 
the help of an activity. 

4. Answer the following question in about 600 

words : 

"Integrated approach should be used to teach 
Environmental Studies." Justify this statement 
with examples. 
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